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The Diophantine Equation
xx+1 x+2 x+3 =1lly y+1 y+2 y+3

CHENG Yao MA Yu-lin
College of Mathematics and Computer Science Chongqging Normal University Chongging 400047 China
Abstract In this paper using the method of recurrence sequences we show that there does not exist positive solution in the e-

quation of the title. In fact we obtain a more general result that the only integer solutions of the Diophantine equation is as fol-

lows x x+1 x+2 x+43 =1ly y+1 y+2 y+3 ate xy = -30 -3 -1 -3 -2 -3 -3
-20 -2 -1 -2 -2 -2 -3 -10 -1 -1 -1 -2 -1 -3 00 O0-1 0 -
2 0 -3.
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